Reflection coefficient from a semi-infinite structure in the discrete

emitter array

(Dated: January 15, 2024)

We consider an excitation propagating in the semi-infinite array of emitters. The ampli-

tude of the excitation satisfies the equation:
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Goal: prove that that solution of Eqs. can be presented in the form
by = e K M=1) | i (m=1) (2)

where K is the polariton wave vector at the frequency w and r is the reflection coefficient
of the polariton from the internal boundary the structure. Find the reflection coefficient r.

Hint:!
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